Détail A

Edition d'éducation de SolidWorks - A titre

Doc. 11/30 39 | 1 [Noix A
77 | 4 |Tuyau Coudé 38 | 4 |Vis Chc Mb5x12
76 | 8 |Coude 37 | 1 |TigeVérinVert
75| 4 |Axe 36 | 1 |EcrouHMS8
74 | 8 |Goupille3x10 35| 1 |EmboutTigeVertic —
73 | 4 |Poignée 34 | 4 |Vis Chc_M6x12
72 | 4 |Partie Mobile 33 | 2 |Tiges Guid
71 | 8 |Raccord RBE Male 32 | 1 |Plaque A Tiges
70 | 4 |Goupille 6x12 31| 2 |Vis_ Chc_6x20 .
69 | 4 |Plague OIld 30 | 6 |Vis Chc M5x10
68 | 4 |Partie Fixe 29 | 4 |Vis Chc _M6x50
67 | 2 |cale Verticale 28 | 1 |Ecrou_a Encoches
66 | 2 |Embout 27 | 1 |Bout AR Vérin32
65 | 2 |Corniére 26 | 1 |Tube Vérin32 N
64 | 4 |Voyant Rouge 25 | 1 |Bout Vérin32
63 | 4 [Voyant Vert 24 | 1 [Bloc_Guidage
62 | 4 [Bouton Poussoir 23 | 1 |Chariot Vérin Horiz
61 | 8 |Goujon M8 22 | 1 |Attelage Elastique c
60 | 1 [Old Poutre 21 | 1 [Plaque Inter
59 | 1 [Aiguille 20 | 1 |Chariot Horiz
58 | 2 [Rail Croisé Mobile 19 | 28 |Vis Chc _M6x15
57 | 1 |Plague Male 18 | 2 |Equerre Support Verin
56 | 2 |ressort 17 | 6 |Capteur
55 | 6 [Pion Diam3 16 | 6 |Support Capteur
54 | 2 |Butoir 15 | 2 |[Fond Vérin
53 | 16 [Rouleau 14 | 1 |Verin_Sans Tige .
52 | 1 |Plague Femelle 13 | 2 |Ecrou HM10
51 | 2 |Rail Croisé Fixe 12 | 2 |Vis H M10 Lg60
50 [ 2 [Soudure-Porte-téte 11 | 4 |Demi-Collier
49 | 1 |Tige-Porte-téte 10 | 1 |Rail Horizontal
48 | 1 |Plaque-Porte-téte 9 | 1 [Tablette —
47 | 8 |Vis_ Chc M3x30 8 | 8 |Corniére support
46 | 22 |Vis_ Chc_M4x12 7 2 |Montant Haut
45 | 6 |Vis Chc M5x13 6 1 [Longeron Haut
44 | 2 |Tuyau_Chauffant 5 | 4 |Pied .
43 | 1 |Buse 4 | 2 |Diagonale Basse
42 | 2 |Electrovanne 3 2 |Montant_Bas
41 | 2 |Bobine Electrovanne | 2 2 |Traverse Basse
40 | 1 |Bloc-Injection 1 1 [Longeron Bas
Rep.|Qté. Désignation Rep.|Qté. Désignation

=&

Format A3

iqUERERT 10

BACCALAUREAT PROFESSIONNEL

Spécialité ETUDE ET DEFINITION DE PRODUIT INDUSTRIEL

Partie E2 - Unite U : 2

: I 2 I : I

5

° |



